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A. Lebensraum (Living Space)
Adolf Hitler was found guilty of taking part in the Beer Hall Putsch (an attempt to overthrow the government) in 1923 he sentenced to five years in prison.  It was in prison that he wrote Mein Kampf.  In Mein Kampf , Hitler outlined his political philosophy. Below is a quote from Hitler’s book Mein Kampf (My Struggle).  This quote explains Hitler’s ideas about expanding German power:
“Only a large space on this earth assures a nation of freedom of existence… The National Socialist movement must strive to eliminate the disproportion between our population and our area (too many people, not enough land).  More land will add to our food source and become a basis for future political strength.  We National Socialists must hold to our aim in foreign policy, namely, to secure for the German people the land and soil to which we are entitled on this earth..”.” 

Why does Hitler believe the German people need more land?

Would you want to read Mein Kampf? Explain. 

B. Expansion and Militarism
1. March 8, 1936





2. March 12, 1938
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Rhineland – demilitarized area between France and Germany

What caused the actions described in these newspaper articles?
How should countries respond to Hitler’s military actions?

C. Munich Conference (September 1938)
In September 1938, Hitler turned to Czechoslovakia.  It had developed into a wealthy democracy with a strong army and a treaty with France which stated that the French would help the Czechs in times of need.  About 3 million German speaking people lived in the western border of Czechoslovakia called the Sudetenland. Hitler demanded that the Sudetenland be given back to Germany (It was taken away in the Treaty of Versailles).  The Czechs refused and asked France for help.  Hitler, the British leader Neville Chamberlain, the Italian dictator Mussolini, and the French prime minister all attended this meeting, called the Munich Conference. Czechoslovakia was not invited. The whole world waited to hear the results of the meeting.  In the meeting, Britain and France appeased Hitler and decided to let Hitler take the western part of Czechoslovakia (called the Sudetenland).  In exchange, Hitler promised not to take over any more land.
Reasons for appeasement included: 1. The British people did not want another war (they remembered the horrors of World War I) and their military was prepared to help Czechoslovakia. 2. Many of Hitler's complaints about the Treaty of Versailles seemed justified.
COPY FROM BOARD.  What is appeasement?

Explain the deal that was made at the Munich Conference.

Based on historical context, why would other countries want to appease Hitler?

D. Nazi-Soviet Non-Aggression Pact 1939

Would you describe the relationship between the Nazis and Soviets as “friends” based on this pact? Explain.
Answer based on map on Board: Based on the geographic context of the Hitler’s territory, what area would he go for next?
E. Prime Minister Quotes (PowerPoint)
Which prime minister would you vote for? Why?

ARTICLE I:  Both nations promise to stop any act of violence (against each other).





ARTICLE II:  If one of the parties (Germany or the Soviet Union) gets attacked by another country, the other party promises not to help that other country.





ARTICLE V:  If a disagreement arises between the Soviet Union and Germany, they promise to settle their differences peacefully…





ARTICLE VI:  The present treaty will last for a period of ten years.








